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PHILOSOPHY — GENERAL
Paper : SEC-A-1

(Logical Reasoning and Application)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
1. Choose the correct option (any fen) : 1x10
(a) That which proves the existence of probandum (sadhya) in the paksa is called
(i) sapaksa (i) hetu
(i) paksata (iv) vipaksa.
(b) How many criteria are used in judging the worth of hypotheses?
(i) two (ii) three
(ii)) four (iv) five.

()

(d)

(e)

‘Earth differs from other things, because it is endowed with smell’- in this inference the hetu
‘being endowed with smell’ is

(1) kevalanvayi (i) kevalavyatireki
(i) anvayavyatireki (iv) None of these.

The sannikarsa (operative relation) for the perception of sound with the ear is
(i) sarhyoga (i) sarnyukta-samavaya
(i) samavaya (iv) samaveta-samavaya.
The heru which is absent in any sapaksa and any vipaksa, and exists only in the paksa, then the
fallacy committed is
(i) asiddha hetvabhasa
(i) satpratipaksa hetvabhasa
(i) asadharana savyabhicira hetvabhasa
(iv) badhita hetvabhiasa.
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(1) The fallacies of relevance are of

(1) twelve kinds (i) seven kinds

(i) five kinds (iv) None of these.

(&) The primary reasoning method in legal process is

(i) deductive method (i) inductive method
(i) both deductive and inductive method (iv) None of these.

(h) Sannikarsa (operative relation) means

U

()

(k)

@

2. Answer in brief (any five) :
(a)
(b)
(c)
(d)
(e)

(i) relation of a sense-organ with its objects.
(i) only the relation between mind and internal objects.
(iii) relation between mind and body.
(iv) None of these.
Earth and Mars- both planets revolve around the sun and borrow light from it. They, when in

motion, are subject to the same law of gravitation. The earth is habitat of living creatures. Therefore,
the mars also is habitat of living creatures. This is an example of

(1) deductive argument (i) induction per simple enumeration
(iii) analogical argument (iv) None of these.

Determine the fallacy in the following case : ‘A certain machine is heavy, complicated, and valuable.
Therefore, each part of the machine must be heavy, complicated, and valuable :

(i) Fallacy of composition (i) Fallacy of division
(iii) Fallacy of equivocation (iv) Fallacy of relevance.
Which of the following is evaluated by testability criterion?

(1) Scientific explanation (i) Unscientific explanation
(i) Analogical argument (iv) None of these.
The condition in presence of which an effect must occur is the

(1) sufficient condition (i) necessary condition
(iif) sufficient and necessary condition  (iv) None of these.

5%5
What is Samavaya sannikarsa? Explain with example.

What is meant by sapaksa and vipaksa? Explain with an example.
Explain Satpratipaksa hetvabhasa with example.
Write any two differences between scientific and unscientific explanation.

How is analogical argument used in the legal system?
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(f) Determine the sannikarsa (operative relation) in the following cases :
(i) Perception of the absence of a flower vase on the table.
(i) Perception of redness of a red flower.

() What is the main objective of logical reasoning?

(h) Explain with suitable example the fallacy of ambiguity.

3. Answer any three questions :
(a) Explain kevalanvayi kevalavyatireki and anvayavyatireki anumiti with examples.

(b) Define savyabhicara hetvabhasa. Discuss different types of savyabhicara hetvabhiasa with
3+12

suitable examples.

(c) Discuss the criteria for evaluating scientific explanation.

5+5+5

15

with suitable examples. 15

s? Discuss in detail following Copi.

(d) Explain the characteristics of the legitimate Aefu (sad-hetu)
(e) Is it possible to apply calculus of probability in legal case o




